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The Question Paper is divided in five units. Each unit carries an internal choice.

. Attempt one question from each unit. Thus attempt five questions in all.

. All questions carry equal marks.

Assume suitable data wherever necessary.
English version should be deemed to be correct in case of any anomaly in translation.

. Candidates should write his/her Roll number at the prescribed space on the question paper.

Q.

[Unit—1]
[g975 - 1]
1 List five services provided by an operating system that are designed to 20
make it more convenient for users to use the computer system. In what

case it would be impossible for user level programs to provide these

services ? explain.
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Q.2 (a)

(b)

Q.3(a)

(b)

Q.5(a)

(b)

Explain following -
o &I ISy —
(i) Real time scheduling. (ii) Distributed system.

Describe the actions taken by a kernel to context-switch between

processes.
TS & 49 H Bl Rad @R 7 BRd §RT (o) TR TR &l
ARAT BV |

[Unit — 1]

[g%75 - 1]
What is dining - philosophers problem ? Also give a solution to it.
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Explain the deadlock. What are the necessary conditions for deadlock to

occur ? Explain.
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OR

Discus deadlock detection in detail when several instances of a resource
type are available in the system.
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[Unit — 1]
[§a75 - 111]
Differentiate between following -

= o ofeR gy —
1. Best-fit and worst-fit strategies of memory allocation for selecting a

free hole from the set of available holes.
2. Hashed and inverted page table.

Discus situations under which the least frequently used page-replacement
algorithm generates fewer page faults than the least recently used page
replacement algorithm. Also discuss under what circumstance the opposite
holds.
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Explain following -

e &l TSy —

(i) LRU - approximation page replacement algorithm.
(i) Demand paging and pure demand paging.
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Q.7(a)

(b)

Q.9

Q.10 (a)

(b)
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[Unit - 1V]
[§575 - 1V]

What are various types of operations which can be performed on a file ?
Explain with example.
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Discuss swap-space management.
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OR
Explain following -
g &I ISy —
(i) Acyclic - graph directory structure. (ii) File protection
(iii) Disk formatting  (iv) Look and C-look disk scheduling algorithms.
[Unit —-V]
[§575 -V]

Describe memory management of UNIX operating system in detail .
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Explain kernel - shell relationship of Unix.
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Explain important feature of UNIX operating system.
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